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Section A (15 x 2 marks = 30 marks)
For each question from 1 to 15, four options are given. One of them is the comect
answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4)
on the Optical Answer Sheet provided.

1. The diagram below shows the stages in the life cycie of a flowering plant.

p __ Ppoliination and . Q

fertilisation

I germination

S «—

1 dispersal

Which of the following mrredly represents the stages P, Q,Rand S?

(1
2)
(3)
(4)

= Q___ R s
seed young' plén'f adu"f‘r):n?tgt with adulft'g:?:rts with
seed young plant | 29 U’ff] gf;r; with | aduit #Ll‘?tr;t with

- adultfrr)‘lji!tr;t with adul; gvlvaenrts with seed young plant
adutft' c;):vlvaenrts with adult f‘r)::?trs“ with - seed young plént

2. The diagram below shows a plant.

F

: | oroune
%E "

* Which of the following statements about plant parts are true?

(1)
(2)
(3)
(4)

A Paﬁ G hoids the plant upright.

B Part F makes food for the piant.

C Part E allows for gaseous exchange.
D Part H anchors the plant firmly to the ground.

A and D only
B and C only
A, C and D only
B, C and D only
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3. Two persons were trapped in a cave with very poor ventilation. The diagram

below shows the composition of air of four different gases in the cave when they
had first entered it.

A

\

water  carbon oxygen nitrogen
vapour dioxide

Which of the following shows the correct.composition of the gases in the cave
after a few hours? i L

(1)

DO
s aae

(2)

3)

(4)

pakty 5
TR




4. The table below shows some characteristics of insect-pollinated and
wind-pollinated flowers. o

Insect-poilinated flowers Wind-pollinated flowers
A __produce nectar do not produce nectar
B produce lighter pollen grains produce heavier pollen grains
e have stigmas hanging do not have stigmas hanging
out of the flowers out of the flowers
D have brightly-coloured petals have dull-coloured petals

Based on the above table, which of the following are true about insect-pollinated

and wind-pollinated flowers.

(1) A and Conly
(2) A and D only
(3) Band Conly
(4) BandDonly

Ali picked up sdme seeds from the Science garden. He conducted an experiment
to find out the distance travelled by each seed when dropped from a fixed height

from the ground.
S A
~o seed
v
N
fan distance travelled
by seed (cm)

[»1

|

He recorded his results in the graph below. .
[ 3 ’

Distance travelled
by seed (cm)

* What is variable 27

(1) mass of the seed .

(2) speed of wind from the fan

(3) size of the wing of the seed

{4) height from which the seed was released

ground

—» Variable Z
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6. Hassan counted the number of organisms found in a park. . He recorded
his findings in the table below. :

Plants Animals
3 Caterpillars
4 Rose Plants ‘ 4 Butterflies
3 Durian Trees 2 Dragonfly Nymphs
2 Bird's Nest Ferns 3 Dragonflies
1 Frog

How many populations of organisms did he find at the park?

(1) 2
(2) 3
(3 &
(4) 6

7. The graph below shows the population of butterflies in a garden community
. over some weeks.

Population
of butterflies |

0 —> Time (weeks)

Which of the following statements explain the change in the population of
butterflies shown along part EF of the graph?

A There was a bush fire.

B More fems were planted in the community.

C More birds were introduced into the community.

D More land was used for planting more flowering plants.

(1) Aand B only
(2) Aand C only
(3) Band Conly
(4) BandDonly
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8. Study the food web below.
Q —» R +— T
P - S
Which of the following statements describes organism R?
(1) ltis afood producer.
(2) ltis a plant-and-animal eater.

(3) Itis a decomposer that feeds on dead organisms.
(4) It competes with other organisms in the food web for food.

9. The diagram below shows a fully inflated basketball. A pump is then attached to
the basketball.

fully inflated
basketball

Which of the following is comrrect about the mass and volume of the air
in the basketball after it was pumped with more air?

Mass of air in the basketball - Volume of air in the basketball

(1) increases remains the same
(2) increases increases
(3) remains the same increases
(4) remains the same -__remains the same




10. The diagram below shows a container filled with 3 different substances
A, B and C. More of substance B was then added into the cantainer.
The container was then placed on a ramp as shown in diagram 3.

sealed inlet

container

more of was then
A Bwas A Dplaced on -
added g 2aramp &

C

“diagram

“diagram 2

diagram 3

Based on the above observations, what are the likely states of matter
for substances A, B and C?

| Substance A Substance B Substance C
(1) __solid _gas liquid
(2) liquid gas solid
(3) gas liquid solid
(4) gas solid liquid

11.  Study the circuit below.

g‘f

P

R§>

wa mény bulbs light up when only switches P and Q are closed?

(1) o
(2) 1
(3) 2
4 3
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12. The diagram below shows a boy on a skateboard as he skates down a U-shaped
ramp.

boyona
skateboard

skate
ramp

Jes: ground

v PO

Which graph shows the change in the kinetic eMérgy of the boy as he moves
from A toB-to C?

o, @ 4
Kinetic Kinetic
energy energy
(units) (units)
1 > ——
A B C A B C
@ @,
~ Kinetic Kinetic
* energy energy
(units) (units) |
l ] - l I |
A B C A B c
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13. The diagram below shows a man cycling on a dark street. The front wheel of
the bicycle w

bicyc
the wheels into electrical energy to enable the bulb to light up.

as fitted with a dynamo. A dynamo converts th

N Z— bulb
: ~
d

ynamo

€ movement of

enlarged
view

street

Based on the observation, which of the following shows the correct

energy conversion?
1) Chemical Kinetic’
Potential Energy - Energy
-~ (Man) - {Legs)
(2) Chemical Electrical
Potential Energy - Energy
(Man) (Bulb)
(3) Chemical Kinetic Kinetic
Potential Energy - Energy > Energy
(Man) (Legs) (Dynamo)
(4) Chemical Kinetic . Kinetic
Potential Energy - Energy > Energy
(Man) (Legs) - (Dynamo)

Electrical

> Energy

(Bulb)

Sound

> Energy

(Bulb)
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14. The diagram below shows different actions that require the use of forces.

A B
sﬁ
b
0

Tearing a piece
of paper

| Opening a drawer

Twisting a towel Hitting a-baseball

Which of the following cofrectly groups the above adiohs?

Push _ Pull " Both push and puli

(1) Band D C A
(2) " AandC B: .D

(3) B D Aand C

(4) C A B and D

15. The diagram below shows a pupil throwing a metal ball in a shot put competition.
The metal ball travelled through the air along the path shown below.

———————— *----“"'-
L Q e - path of
X ~~.,133?tal ball
P
. 'x\
R L Y
field

pupil

At which point(s) is/are gravitational force exerted on the metal ball?
(1) Qonly
(2) Pand Qonly

(3) Qand Ronly
(4) P,QandR

END OF BOOKLET A

10
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Section B (14 marks)
For questions 16 to 20, write your answers in this booklet. The number of marks available

is shown in the brackets at the end of each question or part question.

16. Maya took part in a 100 m race during Sports Day. At the end of the race,
she took a rest for 10 minutes. She recorded her heart rate before and after

the race. The graph below shows the results.

Heart rate
(beats per min)

P

» Time (min)

At which point did she start to rest? Explain your answer. (2]
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17. (a) Whatis a habitat?
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(1]

The diagram below shows a set-up used to investi
different living conditions. Six o

the number of organism X found at parts A Cand D
were observed and then counted.
' glass cover wooden
w : with holes. cover
cover : .
! ; organism X
1 i
% moist cotton
i 1 wool
A | y
Y Y
C D

The experiment was then re
in the table below.

peated two more times and the results were recorded

Part Number of organism X
Trial 1 Trial 2 Trial 3 Average
A 1 2 0 1
B 0 0 0 0
c 1 0 2 1
D 4 4 - 4 4

(b) State a.possible reason why

before the count was recorded.

the organisms X were left for 30 minutes

(1]

(c) Based on the results, su

for organism X.

ggest an example of a natural habitat

i




18. Study the food web below.

| o animal Q

water plant P

S animalR — anmalS — animalT

The graph below shows the number of animal S over a period of time.

I

X
Number of \ % |
animal S

0 » Time

Selvi wrote down two reasons to explain the change in the number of animal S
shown by part XY in the graph.

Reason 1: There is more animal Q added to the pond.

Reason 2: There is more water plant P added to the pond.

Which of the reasons given is correct? Explain your answer. [2]
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19. The diagram below shows two electrical circuits. Rod Q is placed between them
and is able to rotate freely about fixed point X. '

rod Q
iron bar

AN
[ ]

metal

contacts buzzer
St :

“M’_—_O/C} Ipoint X -— |~,

circuit 1

circuit 2
When S1is closed, the buzzer makes a sound.

(@) Explain how the buzzer is able to work when S1 is closed. [2)

(b) Apart from being an electrical conductor, su

ggest another property of the
material of rod Q that enables the system to

work. []
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20. Raj conducte
the distance tra

d an experiment to find out if the type of material affects
velled by a toy car. He wound up the toy car before releasing it

from point A on a flat surface covered with material X. He then measured
the distance travelled by the toy car.

key to wind
up toy car

» 28 S0 ov 26 2 ==

material X

distance travelledTy the toy car (cm)

He repeated the experiment using different types of materials Y and Z
and recorded the results in the table below. . .

Distance travelled by the tby car {cm)

Materlal Trial 1 Trial 2 Trial 3 Average

X 7 6 8 7

Y 12 14 13 13

Z 9 10 11 10

~ (a) Name two variables that should be kept constant to ensure a fair test. f1]

(i)
(1)

(b) State two forces that were present as the toy car was moving across

the materials.

(i

(1]

(i

(c) Based on the results, which material X, Y or Z has the roughest texture?
Explain your answer.

[

(d) Other than increasing the number of times the ioy car is wound up,
what can be done to make the toy car go a further distance?

Explain your answer.

(1]
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Q1 4 Q2 3 Q3 1 Q4 2. Q5 1
Q6 3 Q7 2 Q8 2 Q9 1 Q10 3
Qili 1 Q12 3 Q13 3 Q14 |- 3 Q15 4
Qle6 Point S. When she rested, her body needs less energy. So her heart beats slower
to pump lesser blood containing lesser oxygen and lesser digested food to al|
body parts for a lower rate respiration. - o
Q17 a) A place where organisms live and reproduce. 4
b} | To give organisms X time to roam around and choose its most suitable
habitat. ’
c) Leaf litter. |

Q18 Reason 1. A and R are competitors for the same food which is P. With more Q

added there will be fewer P for R to eat, resulting in a decrease in R’s
population. Thus, there will be fewer R for S to eat resulting in a decrease in the
population for S.

Q19 a) | When S1 was closed, it formed a closed circuit so electricity could flow
through the circuit to make the iron bar an electromagnet. The
electromagnet will then attract rod Q and the other side of rod Q wouid
touch the metal contacts, forming another closed circuit for electricity to
flow through to sound the buzzer. -

b} | it must be made of a magnetic material.

Q20 a) | (i) Number of times the toy car was wound up

(i) Mass of the toy car -

b) | (i) Gravitational Force
(i) Frictional force )

c} | Xas the toy car travelled the least distance which shows that there was
the most friction force between the wheels of the car and material X.

d) | Apply a lubricant to reduce the frictional force between the wheels of the
car and surface it was travelling on. o
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